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5.2 Finding Zeros of Polynomials

IF.5 | can find the ‘zeros’ of polynomial functions

CXpovsents . {Bv Lxempl

Or x2-3x

polynomial function? A fincticn O he Dosihive eduoo—

Standard Form

Factored Form

“‘.—%,&q tlox? SIS
X7 +S x4 (o >

:{2}{2(\.{2;;>

> (x ¥R

ZEROS OF A POLYNOMIAL FUNCTION Jhy——,
i : \
Other Names for Zeros: TR 3@ e e\ ’ﬂ,«. Coant ) AW
- i = 1
Zi’\r‘(./ ‘b 5{\‘/ \ l~—"'\-/IT\ ‘5-:-\'\-‘5 . —/( ( ~ p(‘_’r# \——5.-;:\
. | X= Hns,
= Whkar Ho O o vaill e

= LOWlaz W2 Qe ¢ L2

f: Y i v R o CJ"",(‘/r > i )
é’ LS Lo PEEE B ¥ el TG B WL - N b2 }-"L'-‘X-\:‘:
wh2n e poig WS
2o
Finding zeros on a graph of a polynomial function:
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Factors, Roots, Zeros

Example: x% + 2x — 15

3) Write Equation 2) Factor 1) Solve by setting each
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Remember! Only ONE factor needs to be zero in order for the product to be zero Jpivheas / oo
Let’s work on just the “solving” part. Here we are finding the zeros of the polynomial algebraically
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